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333 Rotating disk and hoop

A disk with mass M and radius R rotates in a horizontal plane with constant angular velocity,
w;. A hoop with mass M and radius R is gently lowered onto the disk so that the center of
the hoop coincides with the center of the disk. The hoop sticks to the disk and the two rotate
with angular velocity wy. Which of the following is true? (131Sp2023)
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Explain your answer.
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337 Ordinary objects and gravitational forces

A 100 kg person stands near 4000 kg elephant. Their centers of mass are 1.8 m apart. Deter-
mine the gravitational force exerted by the person on the elephant. (1315p2023)

— - MPME'
\\ang; 6 r_z

= 6.67x107" Nm= 100y x 40k
tﬁL C[»SM)Z

I

L.2xI0* N

Twis s small (empored to Bzt $ grenlahancd  force

}) /r Fy= Mg

= 4OO00kq x 4. § m (s
Uy ?
?onc s 3Ax0%N
8:2.)(,0-6’\) FE&&J’%\
v 3.9% 1069

Demo:,  Cowendash Redarce \/m'@(ag Vildeo

Quiz?




